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QUESTION 1

Your customer has an NTFS volume that they want to access over both SMB and NFS. The client explains that SMB
access works fine, but the clients are unable to NFS mount the volume. 

What are three reasons that would cause this issue? (Choose three.) 

A. There is no export-policy rule for the NFS clients. 

B. The NSF server is not configured. 

C. Multi-protocol is not licensed on the cluster. 

D. The volume security style must be changed to UNIX. 

E. The LIF data protocol does not allow NFS. 

Correct Answer: ABD 

Reference: https://docs.netapp.com/ontap-9/topic/com.netapp.doc.exp-multp-cg/GUID-22C99AFB-
C64C4E99-8DD0-8F705BC803F8.html 

 

QUESTION 2

Click the Exhibit button. 

You have a mission-critical SQL application that uses a single SMB 3.1.1 share to host its database. The storage node
that is hosting the SMB share sql01_ca for the SQL database experiences a hardware failure and fails over to the
surviving node. 
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Referring to the exhibit, what is the state of the SMB share for the SQL database during the failover? (Choose the best
answer.) 

A. The SMB share will be available, but all data is corrupted. 

B. The SMB share will be unavailable until node failback. 

C. The SMB share will be available, and all data is accessible. 

D. The SMB share is unavailable due to its stateful nature. 

Correct Answer: A 

 

QUESTION 3

Click the Exhibit button. 

You have an ONTAP 9.7 cluster. You increased the size of the volume to 3 TB, but the IOPS did not increase as
expected. 

What are the expected IOPS for the volume after the change? (Choose the best answer) 

A. 2048 

B. 6144 

C. 1024 

D. 4096 

Correct Answer: C 

Reference: https://kb.netapp.com/Advice_and_Troubleshooting/Data_Storage_Software/ONTAP_OS/
What_is_Adaptive_QoS_and_how_does_it_work%3F 
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QUESTION 4

Click the Exhibit button. 

You are configuring your tape backup software to authenticate to your single-node cluster by using NDMP. Referring to
the exhibit, which LIF do you use to connect? (Choose the best answer.) 

A. cluster_mgmt 

B. cluster1-01_ic1 

C. cluster-01_mgmt1 

D. data_lif1 

Correct Answer: D 

 

QUESTION 5

Click the Exhibit button. 
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The exhibit displays the values for the default adaptive QoS policy. An administrator assigns the Value policy to a 1 TB
volume. Over time, the volume expands to 3 TB. 

What is the peak IOPS for the volume, both before and after the expansion? (Choose the best answer.) 

A. 512 IOPS and 512 IOPS 

B. 512 IOPS and 1536 IOPS 

C. 512 IOPS and 12288 IOPS 

D. 75 IOPS and 512 IOPS 

Correct Answer: C 

Reference: http://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.pow-perf-
mon%2FGUIDB144F39A-2E14-4048-91CA-D8080C50F70D.html 
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